I A, 'ﬁfﬂ?{ "{Eﬁ' i TET : 4

Roll No. No. of printed pages : 4

134 434 (IBF)
2016

iy v fage (99w 9990T)
AGRONOMY ( PAPER-1)
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(Only for Agriculture part - I)
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Time : 3 hours | [ Max. Marks : 50

fader : (i) g9 usH—um | |er 17 ue | iy aiferd §)
(i) U e | 98 fawmediy 8| WeE 6en 2 ¥ 6 O [iYEd SxNig ue € | 0wl
7 9 11 T 3 oY ST U B, U P 9XN T 20 el H iy | we
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(i) w7 gl @ fon MeiRea o S e sifde 2 |

Note : I(E} There are in all 17 questions in this question paper. All questions are compulsory.

(ii) Question No. 1 is multiple choice type. Question Nos. 2 to 6 are definite answer type questions.
Question Nos. 7 to 11 are very short answer type which are to be answered in about 20 words
each. Question Nos, 12 to 14 are short answer type which are to be answered in about 200
words each. Question Nos. 15 to 17 are long answer type which are to be answered in about
300 words each.

(iii) Marks allotted to all questions are mentioned against them.

JgfdHedg Ug

(Multiple Choice Type Questions)

| 9 USO8 URp |Wve @ 9ok A AR o G md &) 9i Reer s v gReer

@) = & ¥ PE— oHE B qd gHR ERuaqRAE 6 f— 1
(i) R (i) STETS
(iii) Yrer@HeeiE (iv) TR
(@) N qIel AGHT B Yolfel 68— 1
(i) T AhE — 2 (i) =i : :
(iii) dLUe. 54 (iv) STBIde oI
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(M) HIS—AE TH-Idh Aad o—

(i) oY (ii) eHER
(iii) 3ol (v) =
(F) TATET qraT ST 8-
(i) wEga H (i) @ H
(iii) T H (iv) o ¥
(8) UENEEH # HE&Id: U & 9Tl T 2
(i) STl UG TS (i) <& T4 IR
(i) oftg T FHE (iv) @& vg HEra

Four options are given in each part of question. Write the correct answer in your answer book -
(A) Which one of the following is not a pre-emergence herbicide —

(i) Simazine (ii) Atrazine
(iii) Pendimethalin (iv) Fluchloralin
(B) Fodder maize variety is —
(1) Ganga safed -2 (ii) Shakti
(iii) VL -354 (iv) African Tall
(C) Seed plot technique is associated with —
(i) Cauliflower (i1) Tomato
(iii) Potato (iv) Brinjal
(D) Allicin is present in —
(i) Garlic (ii) Onion
(iii) Radish (iv) Carrot
(E) Pyrites predominantly contains elements —
(i) Zinc and Sulphur (i1) Iron and Sulphur
(iii) Iron and Manganese (iv) Copper and Manganese
~f¥ea ST g

(Definite Answer Type Questions)

2. H&T ¥ 9 F 6HEA € 7

What do you understand by soil ?

qrafReay § oMY T Hed © ?
What do you understand by Biosphere 7

4, FmEE: AT a9 @ oy feaa Rt e g ?

How many days old paddy seedlings are normally transplanted ?

Lad
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10.

1.

13

14,

3RER B BA HAW F gH arell U yofy & A R | 1

Write the name of one early variety of Arhar,

af¥res Wi T ] ? |

What is basic slag ?

i oy SodY ue

(Very Short Answer Type Questions)

& WE B BT @ A O gargdy | 2
What are the desirable qualities of green manured crops ?

Siel, a1 @ Rt R | )
Write the methods of potato sowing,

TR e TRET H 3R v S | 2
Differentiate between ‘Environment’ and ‘Ecosystem’.

fafr qen diftre @ret & smaw W FifnE 2
Differentiate between mixed and compound fertilizers.

qe1 yResfesr a1 & ? wwarsy | 2

What is soil profile ? Explain.

Y SN gE

(Short Answer Type Questions)

Www??ww%ﬁ%?wwaﬁﬂ—zﬁqﬁwﬁwﬁwm
g7 4

What is Ozone layer ? What is its importance ? What chemicals effect it adversely ?

mw%?wm@ﬁﬁﬁmmﬁaﬁ%ﬁﬁ#mmwﬁ[ 4

What is pollution ? Suggest three suitable measures to control water pollution.

agﬁﬁmﬁw—ﬁqmﬁzﬁguﬁﬁwaﬁﬁﬂﬁlwmmrﬁ%gﬁwﬁwmm@qﬁ
T ? : 4

Differentiate between properties of sandy and clayey soils, How will you manage clayey soil for
crop production 7
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(Long Answer Type Questions)

15.  fagar 7 @ w1 avie FrefaRas fidel & s BifeR- 1%6=6
(i) &1 R wornfraf (i) drorex ufer g@ex
(iii) garTE @1 "AY (iv) =g
(v) e UG Savd & yfd gaex AEm (vi) SUe gft g¥ex
Describe the cultivation of late sown Wheat under the following heads—
(i) Two recommended varieties (ii) Seed rate per hectare
(iii) Sowing time (iv) Irrigation
(v) Amount of manure and fertilizer per hectare  (vi) Yield per hectare
YAl (OR)
Frrorelt e G @ w & gaes aviq frEfeilRee el @ et SR
2+2+2=6

(i) &1 R worTfcrr
(i) g BT wHY ©g dro7 @ A Ofy fwey
(iii) @E U gdvd B Ui Dae SaeadEar a7 UG Uy gae
Give acomparative description of the cultivation of Groundnut and Sunflower under the following heads—
' (i) Two recommonded varieties

(ii) Sowing time and seed rate per hectare
(iif) Requirement of manure and fertilizer per hectare and yield per hectare

16. PTfIE Ud SrmiG Wial § 3 T Biford | Ja1 W Prae el ® I 1 9eeld
PifeTd | 6

Differentiate between organic and inorganic manures. Write the effect of organic matters on soil,
HYCT (OR)
fed @1 wwly @1 guIfaa & arel Hifde 9 Wifde srel o auie S |

Describe the physical and biological factors which affects the origin of soil.

17. dwi @ ol emavge dive we @1 9viE S | 6
Describe the essential plant nutrients.
HACAT (OR)
fFferge v fewfy fRiRed - 343=6
(@) B § g @ "EY (@) UM FHeas B HEE
Write notes on following —
(a) Importance of Humus in agriculture (b) Importance of Barseem culture
e TTI T
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oY grefa fasm (feda ys=9s)

Agricultural Botany (Paper-Il)
(Pad HN 39 "r—1 & whenf3fay & fog)
(Only for Agriculture Part-l)

g 3 Uhe | [ quifa : 50
Time: 3 hours | [ Max. Marks : 50

o) 59w U= A wA 17 v 8 Wi v afvard €
() W ¥Er 1 9 fOeed & | ueE W 2 9 6 O A 9oty uwe € ) ue weEn
79 11 T o oy eady ve § R owe U @ SeR AT 50 wres) 3
forfan | w9 i 12 9 14 99 oy SN e € R udlie ue @ 9 o
150 ¥ea] H TR U= WAl 15§ 17 9 fawge S v € O uele o 9
S 300 TeaT B st ey |
i) yF ued @ forg FuiRe ofe o7 wwa sifed )

Note: (i) Thereareinall 17 questionsin this paper. All questions are compulsory.
(i)  Question No. | is multiple choice type. Question No. 2 to 6 are of definite answer type, Question
No. 7 to 11 are of very short answer type to be answered in about 50 words each. Question
No. 12 to 14 zre short answer Lype to be answered in about 150 words each and Question
Mo. 15 to 17 are long answer type to be answered in about 300 words each.

(i) Marks allotted to each question are mentioned against them.

sefasaia yeg
(Multiple Cheice Type Questions)

I 59 U @ 99 @Us @ 9N 4 AR e Ry v ¥ wd fawen o wwR—gRamr
3 forfay -

(@) simeor @& forg o1 amawas T8 & — 1
(i) (i) T4 (iii) 3ffEeTaT (iv) fAeer

(@) wHve= & — ' 1
(i) Tel (ii) &5 (iii) 9T (iv) T
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(i) TeEH (ii) 3 (iii) eTTE (iv) 7Tg,
(@) wdger § quesy e ¢ —

(i) AR (i) BF® (iii) Jv=T (iv) Teikar
(&) -TRIa o gpivH 8@l & —

(i) arg BT=T (ii) 9TeT g (iii) ST BT (iv) ¥HST BRI

Four options are given in each part of question. Write the correct answer in your answer book —

(A) Whatisnot necessary for germination—

(1) Moisture (i) Temperature (i) Oxygen (iv) Soil
(B) Sweet potato is -

(1) Fruit (i) Seed (iii) Root (iv) Stem
(C) Example of compound leafis—

(i) China rose (ii) Mango (iii) Rose (iv) Wheat
(D) Inflorescence in Sunflower is —

(i) Corymb (ii) Umbel (i11) Capitulum (iv) Cyathium
(E)  Dispersal in Coconut takes place by —

(1) Wind (i1) Water (1if)Animal (iv) Explosion

=g soda ge=

(Definite Answer Type Questions)

2. Hwell ¥ 5 Wl @1 YRETST AT o & ?
Which type of pollination is found in Groundnut ?

3. HISCIGIgdl & Wie fhas @i ?
Who discovered Mitochondria 7

4. ey affea eifer s T dadf 2 2

In which part of cell, the Dark reaction takes place ?

5. gy @1 A Sware @ar g Y

What is end product of glveolysis ?

6. I GIerexy fhw @ amar 2 ?

What is the use of Ganong’s potometer 7
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(Very Short Answer Type Questions)

7. feam ugfa @ g ? 2
What is binomial system ?
g AIDS @1 HIV &7 q¥7 519 feifag | 2

Write the full name of AIDS and HIV.

9, I & BIg & Hrd qargd | 2

Mention two functions of stomata.

10. fooedl &Y argofia quif & m farfg | 2

Write the name of two anemophilous flowers.

1. UIGY qul Wi HIRIST & g | ey forled | 2
Write two main differenices between plant and animal cell.

oy I e
(Short Answer Type Questions)

12. SI0TF0T0 T&I7 SROTAOTO 1 Gorr HIfory | 2
Give the comparison between DNA and RNA.

13. Wagd @ 9 fdeant gamd b 4

Mention the four characteristics of protoplasm.

14, U} & SiET ¥ Wiel &1 T A5 & 7 W P | 4

What is the significance of water in plant life ? Clarify.

435 (IBG) [3] [P.T.O.
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(Long Answer Type Questions)

15, Aeadl Be @ IO @RIl BT 9o SUYET U ARG 0T UH YA $ " B | 6

Describe the taxonomic characters of the family Malvaceae with suitable floral formula and floral diagram.
34T (OR)

YeHTIT WIS T YIS P alel BRI P quie HIfoTT |
Describe the factors affecting photosynthesis.

16. F=fafag § 9 fesi 9 ox fewelt fafag - 213=6
(@) e 7T
(@) T @1 YA
(M) oviERe
(@) fdoas

Write short notes on any three of the following -
(a)  Root pressure

(b) Importance of transpiration,

(¢c)  Chlorophyll

(d) Fermentation

17. AT T ¥ P gEdl A1 B |ias quie @i | 6

What is Bacteriophage 7 Describe its structure with diagram,

31274 (OR)
fopiT UHAIGTUEN T <) IFEN WIS @ Aifhe s aegd e sue fafire werol @ auie
HifoTd | .

Draw a labelled diagram of transverse section of any monocot stem and describe its special features.

ETT e
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PN HifaD vd Swarg fRem (g yeaus)
AGRICULTURAL PHYSICS AND CLIMATOLOGY
(Paper-ill)

(@aa oY af A1 & et @ fa)
(Only for Agriculture Part-)

THY : 3 =S | [ quris : 50
Time: 3 hours | | Max. Marks : 50

Fde () =0 v w3 & @ 17 ue & Wi we s ¥
() e WS 1 95 fAweda ¢ | ue W 2 9 6 9o Fifead sodiy ge ¥ | ge e
79 1 7D fT g S S | e W 12 W 14 9 g ol 9w & e
U HET 15 W 17 9% favwge oudy v £
(i) wId 5 & oy Feifa ofe wwe aurg sifthg &

Note: (i) Thereareinall 17 questions in this question paper. All questions are compulsory.
(i)  Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type. Question
No. 7to 11 are of very short answer type, Question No. 12 to 14 are short answer type and
Questions No. 15 to 17 are long answer type.

(i) Marksallotted to each question are mentioned against them.

sgfasada g

(Multiple Choice Type Questions)

1, gﬂmaﬁmma%wﬁﬁﬁfﬁmﬁﬁwﬁlﬂﬁﬁmmﬁq—gﬁmﬂ
# forRag—

(@) = wfewr ofdr 8- 1
() wAE (i) M
() =T (iv) a1

(@) foam wiel # wue @ Ul © q9n @ R R aw oar 2 wife— i
() v o faftre oo oy € (i) wiel B faRre S afts &
(iify OTT B TG HHT FH B (v) ST B T HO e @

[1] [ P.T.O.



() e % QP ST @ e @ fafy e § -

@ =me (i) HaEd

(i) ferfepeor (iv) o
(@) ‘&w A B

(i) ol B (i) ST B

(i) 3TATH BT (iv) 3rTacierer B
(5) e ¥ o¥E @ PN W T -

(i) %zR (i) vT=R

i et
(i) V=iR (iv) =R

Four options are given in each part of the question. Write the correct option in your answer book -

(A) Vector quantity in the following is—

(i) Mass (i) Volume
(i) Speed (iv) Force
(B) To protect his crop from frost in the winter, farmer irrigates his field, because —
(i) Specific heat of water is less (i) Specific heat of water is more
(iii) Latent heat of water is less (iv) Latent heat of water is more
(C) Which is not a method of transmission of Heat in following —
(i) Conduction (i) Convection
(i) Radiation (iv) Gravity
(D) ‘Hertz’ is the unit of -
(i) Energy (i) Frequency
(i) Amplitude (iv) Time period
(E) Inthe following, which is an incorrect formula —
i v
1 —=R 1 —=R
0 5 | @
"
(i) V=iR v i=%

“FifYaa s g
(Definite Answer Type Questions)

o ‘ueprer A e wifaes Wf¥ @ AEG £ 7
‘Light Year is the unit of which physical quantity ?
3 wem T fRd PR B S B (h—Ud SeEe’l aifed |

Given one example each of first and second kind of levers.

4, TR @R 9 aRam ferlad |

Write the definition of "Acceleration due to Gravity'.

436 (IBH) (2]



5. g F B o W gfe @t wgmem g9 fha B 8 2
What is the least distance of distinct vision fornormal eye 7
6. ‘amuftie smear @ gRemr el |
Write the definition of * Relative Humidity”.
arfar o g 9oy yeH
(Verv Short Answer Type Questions)
7 Tfa @ g g gireR ferad |
Write any two equations of motion.
8. Teh w9 240 T[E P 40 WHVE H Hwen & | WEA & g qansd |
A machine works 240 Jouls in 40 seconds. Write the power of machine.
9. Wl B aTs B U IED! A TP Wl & | DRI ISy |
Ploughing of fields block their wetness. Give reason.
10. Tfé e} W= T AI9sEH 10°C 81 Gl a8l BT URH TWUehH a1 BRI ?
If temperature of any place is 10°C. what will be absolute temperature of that place 7
11, 3feAT @l ST 77 S R B B 7
Where does Retina lie ? What is its function 7
oy STIg 9E
(Short Answer Type Questions)
12. AUEY HY gedT & ? w@eo fUF e aesgd |
How does Solar Eclipse happen? Explain with the help of a clear diagram,
13. frelt e & Hem @1 qaigaE e TeR o & 7 e S|
How does the weather forecast for any place is made ? Clarify
14, HOI GIRET TUT T FHT @ GRHTST fAREd G2 S5 WEe qaisd |
Write the definitions of Heat Capacity and Larent Heat and also write their units,
436 (IBH) [3]
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15.

16.

1

farega sa¥m yeA
(Long Answer Type Questions)

U YT T SredaHis 0.01 THT & | 39 S &1 arf wHsnsd | Ut @1 wWee AmEifed
fer ge2d w9 9we aRIfAf @1 avig B | 6

The least count of a Screw Gauge is (.01 ecm. Clarify the meaning of this statement. Draw a labelled diagram
of Screw Gauge and explain its working procedure.

34T (OR)

T & R e " Rl | |9 ke & e o1 Sweid ST T STIERI QoY
g9 g &1 W S |

Write the definition and unit of momentum, State the law of conservation of momentum and explain this law
giving an example.

fapelt go9 UX 220 dlee, 60 aTe 3ifdhd 2 | ST URRM 1 8 ? 39 SF @18 ¥ 8 He wfafdq
TN By WX fhaEr 97 wd g, gfe U gie @1 g 5 B B ? 6

200 volt and 60 watt are written on a bulb. What is its resistance 7 If it is used 8 hours per day in the month
of June, what will be the expenditure at the rate of Rupees 5 per unit ?

312747 (OR)

. TR TRy @ feharfafe o1 wiee quia @i |

Describe the working procedure of Common Pump diagrammatically.
oI ¥ ST T HER B ? o bR UeR B B £ P o @ W # e @ ofvmen

ferfRad— 6
() T e (i) WHIEE B
i) "UH BIHW (iv) HTEg Th

What do you understand by a lens ? How many tvpe of lens are there 7 In the context of lens, write the
definitions of followings —

(iy  Principal axis (i) Optical centre
@) First focus {iv) Focal length.
J14dT (OR)
frefefaa # s forfad — Ix3=6

(@) SFIuRRT T qT fjaEd a3

(@) wreifie S deon Ede 9o

() I @=AT 9Tel

Differentiate in following —

(a) Transverse Waves and Longitudinal Waves
(b}  Primary Cell and Secondary Cell

(¢) Dew and Hoar Frost
Rk E R
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SN =T (agel gvaus)
AGRICULTURAL ENGINEERING (PAPER-IV)
(mﬁﬁﬁmﬂ—la?uﬂmfﬁfﬁa?fm)
(Only for Agriculture Part-l)

g ;3 gue | [ qoris - 50
Time : 3 hours | [ Max. Marks : 50

e )z wF o § g 17 g # o g e #
(ii) Wﬁmlﬂgﬁﬁmﬁlmmzﬁﬁﬁiﬁﬁﬁﬂﬁwmﬁlm
| 7 W 11 T R oY g ue € R aeie Uv @ 9eR ST 40
vt # falgu | we W 12 9 14 7% @Y 90y ve & Re a9 we o
wmmlsnmaﬁﬁ%&ammﬁwm#ﬁwﬁmeﬂﬁumﬁ
o el &1 STR o 300 W @ e R
(i) ¥ e B R iRa sim w1 wep sifeg ¥

Note : (i)  Thereare inall 17 questions in this question paper. All questions are compulsory,
(i)  Question No. | is multiple choice type. Question No. 2 to 6 are definite answer type questions.
Question No. 7 to 11 are of very short answer type to be answered in about 40 words each.
Question No. 12 to 14 are short answer type to be answered in about 150 words each and
Question No. 15 to 17 are long answer type to be answered in about 300 words each.
() Marks allotted to each question are mentioned against them.

sgfdsalg ye

(Multiple Choice Type Questions)

t: wm%uﬁmmzﬁwﬁmﬁmﬁwwﬁmﬁﬁmmwﬂgﬁﬂm
¥ fofay —
(@) ics 91 & &1 B | W B B Bredr 2 — I

(i) SRR () #Hes dre
(iii) THTIT (iv) e wEe
@ @ dRW F e o dew By £ — | |
@) 100 (i) 1000
(i) 10000 (iv) 100000

[1] | PT.O.



()

(%)

sacY gy Raama & 7o+ § 5w g3 &1 uue g g -

(i) drecHEx i) STETEMEY
@) wreMHeR (iv) e
@ N F 2 & Swn 5w fow B 8 -

@ g A () g A

(i) wSTS | (iv) Tes d

o 399 # dfdeT We o qer R e ofer g 8 -
0 foes @ i) #F ave ¥
(i) TS @Bler 9§ (iv) ®F WFe |

Four options are given in each part of the question. Write the correct option in your answer book —

(A)

®)

©

(D)

Which part of the Mould Board plough cuts the soil —

(i) Share (i) Mould Board

(i) Frog (iv) Land side

How many square meters make one hectare —

(i 100 (i) 1000

(i) 10000 (iv) 100000

Which instrument is used to measure the pull by a tractor —

(i) Voltmeter (i) Dynamometer

(i) Speedometer (iv) Anemometer

Harrow is used in agriculture for the purpose of —

() Ploughing (@) Sowing

(i) Threshing (iv) Harvesting

Big end of connecting rod in diesel engine is attached with —

(i) Piston (i) Crank shaft

(iii) Fly wheel (iv) Cam shaft
fAf¥=a soiig e

(Definite Answer Type Questions)

2. UH ud Hiex ¥ fhed e g £ 2

How many liters make one cubic meter ?

3. @I W1 ufdr de gofe: ot § gaer & o ewar @ 7
Which pumping set (motors and pump) works after being completely under water 7

4, UF areauiia H fheae dfc 9 & ?

A horsepower is equal to how many watts ?

437 (IBI)
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5. @ifeite MR &1 SUANT A [BE wwe H ERm g 7 1
Olpad thresher is generally used for which crop 7

6. U fewm B (@EdT BW) f g e e g g ? 1

How much tilt angle is provided in a disc harrow ?

sty &g 9oy 9eH
(Very Short Answer Type Questions)

7. UF SIoid IO H o Suigex @ ggr SuEifr 8 7 5

What is the use of injector in a diesel engine ?

8. aigrE v & SuAnT garsd | 2

State the uses of winnowing fan.

(=)

9. TH Hee Pled arell HH T TS @A D FUATT BT Soold DIy |

Explain the uses of fly wheel of a chalf cutter,

10. U gacy ¥ o fewlae & ol gasd | 2

Mention the functions of differential in a tractor,

11, U 8% B HHie 99 | AT g wEe g 7
What do you understand by the command area of a canal ?

b

(Short Answer Type Questions)

12. U el 99 g Wik S &Y vg RS e e Sl o aren @it 4
Explain various strokes required and working of a diesel engine to produce power.
13. B ¥ g @9 arell Ry ueR @) &1 &1 9o #if | 4

Explain various types of harrows used in agriculture.

14. B ¥ Sug B g9 WR—d-5a @ 9ee g B R o1 vl it 4
Explain the constructional details and working of a ferti-seed-drill used in agriculture. :

437 (1BI) [3] [ P.T.O.



faega sodig
(Long Answer Type Questions)

15. RiaR o s o9 & R am gur sy o1 wle ol 9| sus g &
AAeIE WaHgT & N oo i | 6
Explain diagrammatically the various parts and working of a centrifugal pump for irrigation purpose. Also
mention precautionary measures in its use.

16, ﬁﬁ%ﬁqﬁﬁmﬁﬁmﬁﬁr&mmﬁﬁhﬁqﬁmﬁaﬁmﬁﬁmi 6

Explain different types of iron and steel used in manufacturing various agricultural implements.

3eTAT (OR)

ﬁamﬁmw—aﬁrﬁﬁfﬁﬁqwﬁwwﬁfﬁaﬁwﬁﬁmmmw
Yg-—Eg H HEeHar o gargdy |

Explain various parts and working of a bullock drawn cane-crusher Also mention the precautions in its use
and maintenance,

1?.'1:{&15W'X'ﬁwsuﬁﬁ%wsﬂwmﬁﬁaﬂ%aﬂ?mmwmﬁm
Y HAET O YET §, RreeT amrw 20 ¥ ¥ 9l AR X @ TR 60 Tame ofy fee
%ﬂiﬁm‘y'aﬁﬁﬁwmaﬁaﬁfﬁmaﬁmaﬁmr 6

A gear “X" with 30 cm diameter and 60 teeth is driving another gear °Y” with 20 cm diameter. If gear *X’
rotates at 60 revolutions per minute, calculate the speed and number of teeth of gear ‘Y.

AT (OR)

UH TYAA 25 ey Uiy ¥es # TX W ool Pl oY var R | T 18 2R Auwe
@ YF WS JW TE R wwT ¥ e g o7 wwy s

A tubewell is delivering water at the-rate of 25 liters per second. How much time in hours will it take to
irrigate 1.8 hectare land with 5 em depth of irrigation.

Bk
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Agricultural Mathematics and Elementary Statistics (Paper-V)
(ﬁaﬁﬁaﬂﬁm—la%qﬁaﬁﬁa%%rq)
(Only for Agriculture Part-l)

g 3 gve | [ gofe @ 50
Time: 3 hours | [ Max. Marks : 50

frder : ) o U U H g 17 9T ¥ | ol v aferd ¥
(i) WEF Y P &P TS wEE Ry W S
(i) WE AT 1 aﬁ@ﬁswwﬁﬁﬁ@ﬁaﬂﬁﬁmwwgﬁﬂwﬁﬁmi
(v) T T ¥ WIS B SR 3 O PR TG | O W T S 6 9 | g
€& 7T P |
(v) ¥ Y% B ST IER—gRamr F #ire |
Note - (i)  Thereareinall 17 questions in this question paper. All questions are compulsory.
(i) Marksalloted to cach question are given against iL.
(i)  Write the steps of solution of each question in your answer book except question No. 1.

(iv} Start from the first question and proceed to the last, Do not waste time over question, if you can
not solve it.

(v) Do all rough work in your answer hook.

1, mzﬁuﬁmmaﬁwzﬁﬁmmﬁmﬁnw%mﬁﬁmmw—m
¥ fafae |

Four options are given in each part of the question. Write the correct answer in your answer book,

() Cos 150° @T 717 & — : 1
The value of Cos 150° is— '
L] = ! e W3 ; 3
3 () -3 (iii) i_,_'- (iv) ~ 2:

@) (64" @ HA B — 1
The value of (g4) 7 is—
o] ) i ] »
M 3¢ (i)~ 16 (i) 5<% (1v)—256

[1] [ PT.O.



@@ Afd e =" ar » @7 AT BT — 1
If "¢ =10¢__ the value ol r will be -
(i) 1 (i) 2 (iii) 3 {iv)4

(6) g (6.8 Y- o A g & — 1
The distance of the point (6, 8) from Y-axis is -
(i) 10 (ii) 8 (iii) 6 (iv)4

(8) 21 WA AR aTe et daat B Segdl 2:5 B FTI ¥ §| g% @hyel @
AT BT — 1
The heights of two right circular eylinders of same base are in the ratio 2 : 5. The ratio of their curved
surfaces will be—
()2:3 (ii)5:2 (1ii)3:2 (iv)2:3

o ufe el e Sl @7 4T U (Gn-4) &1 @S] 1eat Te S Iford | 1

If the i term of any arithmetic progression is (3n - 4), find its 18" term,

3, qzﬁalmmzﬁwa"ma:“raiméﬁﬂiﬁaﬁ?iﬁ@swﬁﬁwﬁ‘:wamaumﬂﬁf%m
S e e HifoTy | 1

~ The length of arectangular solid is 5 em and the breadth is 4 cm. Ifits volume is 60 cm’, find its height.

4 AR 167p,=13""p, WY p WY A AR DI | 1
IF16”p, =13 "' p_. find the value of

5. dfg tﬂl!-‘9=% dar g @eie— 1
4
Iftan tan 8= 3 prove that—
1-sing _1
}+511’119._3
6. f?:m%A=(3.naﬂ?az(n,yinah-aﬂrnﬂsrfﬁa?rﬁ‘ﬂqu& AB=5 1
GivenA=(3, 1)and B= (0, y—1). find the valueof y if AB=5.
7. fog BN : 10011614 5100 224 31 PI 2
el il | =1
Prove that : GE[[S} Og[m}’ GE_S{]] oet

8. U (a+b). 26, (b+c) TR o 3 & 7 Rig BIRTT 5 4, b, ¢ TONER SO0 A B 2
If (ar+B). 2b. (b+c) areinHL.P., prove thata, b, ¢, willbe in G.P.

438 (IBJ)
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9.

10.

11.

12,

ficd

14.

A an A= o wn B2 o Rig @R Re: AeB=T ;

frd | e

1 | T
[ftan A== ane tan B=—_ nrovethat: A+ B==
5 an 3P ove that 1

U ARG G & MR BT A6 817 T G0 & 721 B 14 A B | I B Gy
ST DITTY | 2
The area of the base of'a right circular eylinder is 81 7 em? and the height is 14 ¢cm. Find the surface area of
the cylinder.

VERETS AB BT #Y fdsg M B @1 AT e sta ST afe M=(1, 7) @ B=(-5, 10) 2
The mid point of a line segment AB is M, find the co-ordinates of Aif M= (1, 7)and B =(- 5, 10).

U QUT WA @ STER ¥ 30 Hiew g Rem 5l fag & A @ Ray @1 g=rae Hior 30°
€| 9 BTy i MR @1 e Bard 9% ok a7 oy &5 9 g = AR & frex
BT ST DIV 45° 81 W7 (5 =1.732) 4

The angle of elevation of the top of an unfinished tower at a point distance 30 m from its base is 30°, Find that
how much higher must the tower be raised so that the angle of elevation of the top of the tower at the same

point may be 45°7 (/3 =1.732).

AT (OR)
firg @ifore & -
Prove that :

12 Hiex &9 UFHR T, & MR o gk 66 Hiew & | 7w 3 arfds 9 o1 mad s
DI | 4

The circumference of the base of a 12 m high conical tent is 66 m. Find the volume of the air contained in the tent.
AT (OR)

T8 & T TS BT AT 6 WY B | A BT = 0.2 WA @rd @7 U o TR 99T 37 |

TR &1 THETE Sd DIy |

The diameter of'a sphere of copper is 6 em. A long wire of the diameter 0.2 cm is made by melting the sphere.
Find the length of the wire.
el Prw @ Aivl & Adei® A0.b), B(0,0)9271 C(a, 0) T I B ACT® B9 1 o

& e p B o g e fF

1 |
—?E—-i--i-‘-'-" 4

cos (36° — A) cos (36° + A) + cos (54° + A) cos (54° — A) =cos 2A

The co-ordinates of the vertices of any triangle are A (0. b), B (0, 0) and C (a, 0). If the length of the
perpendicular drawn from B to AC is p, prove that :

1 J5 il

=5y ey

o oa b
AT (OR)

438 (IBJ) [3] [ RT.O.



W%@mﬂp:mﬁﬂwﬁaEﬁﬁqaﬁ?wﬁﬁra%ﬁ?&ﬁzﬁarﬁaﬁﬁqaﬁaﬁm
y- & Bl dEd! 2|

Draw a graph of the straight line 3x+ 2y = 10 and find the co-ordinates of the point where this straight line
intersects the y-axis.

15, =foiRa Tl 3 et em @ 60 Rrenffat & afor & wreie o w1 & | et @ wHry
HEG BT AT HIRAT | 6

The marks obtained by 60 students of a class in mathematics are given in the following table. Calculate the
Arithmetic Mean ofthe marks obtained.

TR
Marks obtained
faenfeiat = e g 5

Number of students

0-20 [ 20-40 | 40-60 | 60—80 | 80— 100

20 12 3

AT (OR)

FefoRaa 9w & wiftae s #ifew -
Find the Median from the following distribution :

uR (@A) g 45| as—s0[50-55| 55— 60| 60—65] 6570 70 - 75
Weight (in kg)
e B e 2 3 8 6 6 3 2
MNumber of Students
16, Frfeifaa sidel 4 aga® s HIRT 6
Find the Mode from the following data :
3y (et %) 5—15 | 15-25 |25-35 3545 | 45-55| 5565
Age (in years)
it 2 sl 7 12 19 2 13 7
Number of Patients
17. F=fofes siest & a9 Rae sma @i 6
Find the Standard Deviation of the following data :
ﬁa?‘“” 30-40(40-5050-60] 60-70 | 70—-80| 80-90 |90 - 100
Class interval
RS 3 7 12 15 8 3 2
Frequency
Wk

438 (IBJ) [4]
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AGRONOMY (PAPER - VI)

(Hae T a1 A—I @ uderda @ fag)
(Only for Agriculture part - II)
|HT : 3 HUL | [ gutfe : 50
Time : 3 hours | [ Max. Marks : 50
e : (i) % YA A @mor 17 99 & | i wee s €
(i) e e | 9y e §) ue | 2 9 6 7a Mie S W £
(i) U | 7 9 11 9% i oy SO ueE &1 398 | Uhe ol 9Ty 20 =i B
s S |
(iv) e ¥eET 12 9 14 T o'g) T U § | S Wedd FE 1 9N 150—200 eg)
@ aiala i |
(v) Te &7 15 | 17 O o 9o wed €| 39 9 Ud U & 9T 300 el @
aierre AfeTg |
(vi), a1 weHl & forn iR sie o we sife 8 |
Note: (i) There are in all 17 questions in this question paper. All questions are compulsory.
(i) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type questions.
(iii) Question No. 7 to 11 are very short answer type. Answer each of these within 20 words.
(iv) Question No. 12 to 14 are short answe type. Answer each of these within 150-200 words.

(v) Question No. 15 1o 17 are long answer type. Answer each of these within 300 words.
(vi) Marks allotted to all questions are mentioned against them.

qgfadedy g3

(Multiple Choice Type Questions)

. OV P AR W @ go¢ ¥ OR e A w4 8| wd e sl swr gRaer |
forfead —

@) = A [ e 9 B AR-gosiied § — 1
(i) 34 (i) <
(i) 3FHe (iv) e

(@) BT 3 el & — 1
(i) ST (i) |
(iii) T (iv) w4

[ 1] [ P.T.O.



() SO URE A IR BT FelS-BeR o IuYdd 9 8 — 1

(i) feaR—orra (i) TIE—3TT
(iii) TeraraR—stacan (iv) TNaI—HTE
(9) Pfereprad Ud Herd Wit d Hoigw U4 WigR Sfel H warer fdad g g & — |
(i) geH (i) el
(iii) SiFaTH (iv) Dicag
(@) arvelia 9 | @ | Sdvd T B Ay — 1
iy 9fe i (i) feaw A=ge
(iii) feaad sEtras AEee (iv) SURIa T

Four options are given in each part of question. Write the correct answer in your answer book —
(A) Which one of the following is a non-climatrie fruit —

(i) Mango (i) Litchi
{iii) Guava (iv) Banana
(B) Which one is a false fruit —
(i) Jamun (ii) Ber
(iii) Mango (iv) Apple
(C) Innorthern India, grapes are pruned in —
(1) December-lanuary (it} July-August
(iii) September-October (iv) February-March
(D) Inbudding and grafting, the union between root-stock and scion takes place through —
(i) Xylem (ii) Phloem
{iii) Cambium (iv) Cortex
(E) Which fertilizer should be used in acidic soils —
(i) Basic Slag (ii) Sodium Nitrate
(iii) Calcivm Ammaonium Nitrate (iv) All of these

fREa Sy yvT

(Definite Answer Type Questions)

2. ogfte qaT ® 7 1
What is Scanty Rains ?

3. ot e qene @1 g ferfad | 1
Write the formula of Drainage Coefficient.

4 L A RiEE € P @ R Swn @ ? :
Which irrigation method is useful for sloppy soil ?

5. TN S M @ arg $uR R g1 UM 9died | 1
Write two effect of poor drainage on air penetration.

6. di—wea &1 A foriad | _ 1

Write the formula of V-Notch.

439 (IBK) [2]
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(Very Short Answer Type Questions)

7. @R e, O @ o & 'R § 7 2
Why alkaline soil is injurious for plants ?

8. YHY & TR B Sool@ i | 2
Stale the reasons of Earthquake.

9.  wasl drell AER @ dINUdR BY Udh TIET @ AE U9 ST HET foriad | 2
Write the name of one chiemical and its dose for the treatment of table pea seed.

10, dLy=. @1 @ sy @ ? 2
What do you understand by pH 7

1. a9 GuRST & 97 9 It gy ke | ,
Write name and chemical formula of two soil reclaimants,

oY ST qeH
(Short Answer Type Questions)

12.  WoeaTe By Sl T & 4 &1 ydy ang dw Bt ? 4
How will you manage acidic and alkaline soil for crop production ?

13, ¥ms—aforal & Aee @ wEsEd | 4
Explain the importance of vegetables.

14.  wemwr & 9 e diet o gama foRed | 4
Write the effect of water logging on soil and plants.

e S W
(Long Answer Type Questions)

15. maﬁwﬁw?ﬁﬁﬁmﬁaﬂ?ﬁm%ﬂwmmaﬁw
BTy | 6
Mention the three units used for measuring irrigation water and describe sprinkler irrigation.

34T (OR)
BRI B STA—HIT W F1 AU § ? BEell B oA R THIT STe aTrel SR BT
faawor 1o |
What is meant by water requirement of crops ? Give description of the factors affecting w;atcr
requirement of crops.

439 (IBK) [ 3] [ P.T.O.



16, Frfafae wwal § & et Bue 3 wdl o wfiRar quE Sifod — 6
(i) TIG—T
(if) G
(i) &9
Describe in detail the cultivation of any one of the following crops —
(i) Knol-Khol

(if) Garlic
(iii) DBrinjal

17. o 1 amrarE) @ avle fAefaRen et @ sfoia @i - 1%6 =6
(i) wga werterEl (i) WY fafr
(iii) @TE T SARE (iv) T UE Bie
(v) FoarE (vi) SUw wla gaex
Describe the gardening of Mango under the following heads —
(i) Recommended varieties (i) Propagation methods
(iii) Manures and fertilizers (iv) Disease and insects
(v) Irrigation (vi) Yield per hectare

4T (OR)

A% Ud del @Y anTaEl B gores avi FrEfefiad el @ siaria Pt - 2x3=6
() W vd @re—sdva @1 wE ui gdex |

(i) T B g vd GHY |

(i) T S~Tadiier wufdt vd Sus Afy gy |

Give a comparative description of the gardening of Guava and Banana under the following heads —
(i}  Soil and manure fertilizer rate per hectare.

(ii) Transplanting distance and time.

(iii) Two recommended varieties and yield per hectare.

EhEkEEEE

439 (IBK) 4]
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|HY - 3 "2 | [ quif® : 50
Time : 3 hours | | Max. Marks : 50

- ) 39 uw o3 A &9 17 99 & | 9l v aifard €
(i) W AT | 95 [Awedia 8 | S WA 2 ¥ 6 O if¥Ed 9y W & | W e
7 9 11 o oY ST WEE €, WP &1 SR T 50wl ® faRay | wee e
12 9 14 9% o IO0d UE B, USS U B SR T 150 el # fafag | g
@ 15 9 17 a@ favgd Iy v € O U@ 9% 3 SO AT 300 TR
P T fofay |
i) wew wea @ forg MuiRa ofe o9 wwa sifda ¢ |

Note : (i) Thereareinall 17 questions in this question paper. All questions are compulsory.
(i) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type questions.
Question No. 7to 11 are of very short answer type which are to be answered in about 50 words.
Question No. 12 to 14 are short answer type which are answered in about 150 words
each. Question No. 15 to 17 are long answer type which are to be answered in about 300 words
each.
(i) Marks allotted to each question are mentioned against them,

qgfaseda u

(Multiple Choice Type Questions)

. o9 U B ye WS ® oo 7 Ar [Jee fiu e €| wel ey el StR—gRder |
faRay —

(@) o9 Be gitcror Afdwad gar 2 a9 T e 8r & — 1
() e (i) OIS
(i) =LA (iv) 3[4

[1] [P.T.O.



@)

(A)

(B)

©

(D)

(E)

2. &

'Wﬁ,wmﬁmwwﬁaﬁ:ww#w%— 1
G ®eq () BRE wioe

i) TO ¥0 TRATET (iv) o= "Te¥

Srfafag § 4 ®F e B & 9 @ § - 1
@ Rud & i) wewr YW o 96

Gi) & w9 (iv) =TES

freq afsasy fegw ==mam el & — 1
@ 21 A/ Bl () 5 S @

(i) 15 Semg DI (v) 18 S[eg I

RIS @R B el R & afkored feae fea - |
@) TN iy =iefe=

(i) UNET (iv) e

Four options are given in each part of the question. Write the correct option in your answer book —

When total utility is maximum, then marginal utility is —

(i) Positive (i) Negative

(i) Minimum (iv) Zero

‘Better Farming. Better Business and Better Living’, Who said it —

i) Katju (i) Horace Plunkett
(i) A.D.Gorwala (iv) Jems Peeter
Which of the following is apex bank for Rural Finance —

(i) Reserve Bank (i) Co-operative land development Bank
(i) Regional Rural Bank (iv) NABARD
When is World Forest Day celebrated —

(i) 21st March (i) 5thJune

Gi) 15th July (iv) 18th July

Who gave the concept of ‘Modem Theory of International Trade’ -

(i) Walras (i) Ohlin

(iii) Pareto ’ (iv) Cassel

=g soda 9=
(Definite Answer Type Questions)

# v gy 4R | 1

Give a definition of Interest. A
3 ‘aavaear e @7 sefurer o @ oef ¥ 7 1

What is the meaning of the term ‘Want” in economics ?

440 (IBL)
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10.

11,

14.

Rerst fre fRaRyRT & sefeme! € ?
To which school of thought does Ricardo belong ?

‘=TIt Aremr @1 WRe fba ad gan ?

In which year ' Annapurna Yojana’ started 7

d—pme’ T 8 ?

What is ‘e-commerce’

Jffer ofyg S ueH
(Very Short Answer Type Questions)

T RBrn & 8 9rEE a9Ed |

Crive two means of Rural Education.

arfes TReadr § g T WEEd 8 7

What do you mean by social mobility ?

Pfy & dar B < i ferag |

Give two benefits of mechanisation of Agriculture,

'SGET RIS T T S & P

What do youmean by ‘Disguised Unemployment® ?
RA # SEEn @1 g fagma] § 7

What are the characteristics of population in India ?

oY ST g
(Short Answer Type Questions)

AR B O B R ¥ Aol SRS @ Seerg B |

Mention the factors affecting the extent of market.

TRy B am Seed & 9 831 | SN 8T 8§ 1 W Sif |

"The law of diminishing returns is applicable in all fields of production.’ Explain.

STl T @ fore Sugas g A |

Give suitable suggestions for ‘Conservation of Water”.

440 (IBL) [3]
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farega 9T 9T
(Long Answer Type Questions)
15, n“hTa%ﬁwaﬁWaﬁﬁW1%%1‘%%@1%73@%37}?2&1%@?&%&3@%%?
HHEEE | 6

Elucidate the law of demand. Why does the demand curve tend to slope from left to right ? Describe

AT (OR)

mﬁwﬂmﬂ%mmﬂﬂﬂgﬁ%?mwwaﬁﬁim@m_l
What do you understand by Division of Labour 7 Explain its merits and demerits.

1ﬁ.mﬁa?rﬁaﬁamwwﬁ§?mﬁmﬁaﬁmaﬂaﬂﬁm%?m
P | 6

What do you mean by consumer’s su rplus ? What is the importance of consumer’s surplus 7 Clarify.

31e1dT (OR)

.wﬁﬁwﬁﬁmﬂﬁﬁmﬁmwwwﬁwﬁqﬁmm

CRIELS
Discuss the causes of unemployment in India and suggest suitable measures to solve this problen.

17. mﬁﬁm%wmw%?ﬁﬁw%wﬁ@mwm
Sy | 6
What are the main sources of agricultural credit in India ? Illustrate the importance of institutional agencies in
agricultural credit.

312747 (OR)

wﬁwwmwrmﬁmm@%w@qﬁmml
What programmes have been taken for the rural development in India ? Deseribe in brief.

sk gk
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Agricultural Zoology (Paper-VIII)
(@9 o a7 "Er-11 & wdenlRfar & o)
(Only for Agriculture Part-II)

99g - 3 e | [ gorias : 50
Time : 3 hours | [ Max. Marks : 50

Bdw @ 399w o3 b e 17 g E ) W v At §

() e e | 9 fAeedy & | U W 2 W 6 oo e Sody ue € e
WIS TEE BT SR U aved ¥ foled | 9e W 7 9 11 9% oY oy 9y ve
B, HRF BT ST o 50 Wt ¥ fofan | we W 12 § 14 7% @y sada ve
€, UT® 0ET BT W T 150 R} F folew | wew w15 9 17 9 fiwgw

. I WET € UAP U BT IO oI 300 YT & o fafk |

(i) AP HEH & oy FeiRe e 9w sifva #)

Note: () Thereareinall 17 questions in this paper. All questions are compulsory.

() Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type which are to
be answered in one sentence each. Question No. 7to 11 are of very short answer type which are
to be answered in about 50 words each. Question No. 12 to 14 are short answer type which are
to be answered inabout 150 words each, Question No. 15t 17 are long answer type which are
to be answered in about 300 words each.

(i) Marks allotted to each question are indicated against it.

sefasefla yoq

(Multiple Choice Type Questions)

1. mmﬁmmﬁwﬁ'ﬂwﬁaﬁmﬁqwﬁmﬁﬂtﬁmm?ﬁm—gﬁﬁw
¥ forfn —

(@) Uil & geoE ot & — 1
() DIAHT (i) T
@) gre™ (iv) e

(@) s PR o g & — . o1
@ R HrEmH (i) S orer #
(i) f=repr Prem § (iv) 379 & PIg TE

[1] [ P.T.0.



() Felrfroed Ryogid ¥ ToREl A WA Bl e !

G 44 G) 45
i) 46 (iv) 47

(@ wgud Ruwwe & o T - 1
@) WA 1 urEd (i) SATYTEET BT T TG
(i) HaBA (iv) WIS @1 TR

(€) oiee o1 Hifid MR & — 1
(i) I=D (i) Siasd (iii) fRresT (iv) SI0GF0T0

Four options are given in each partof the question. Write the correct option in your answer book —

(A) Locomoterorganelles in Paramoecium is—

(i) Flagella (i) Cilia
(iii) Pseudopodia (iv) Feet
(B) Meiosis cell division occurs in—
i) Somatic cell (i) Generativecell
(i) Sensory cell (iv) None of these

(C) The number of chromosomes in Cleinfilter’s syndrome is—

. @ 44 (i) 45
(i) 46 (iv) 47
(D) Functionof typhlosole in Earthworm is—
(i) Digestionof food (ii) * Increase the absorption arca
(ify Circulation (iv) Assimilationoffood
(E) Physicalbasis oflifeis—
(i) MNucleus (i) Protoplasm
(i) Cell (ivy DNA

e sodig 934
(Definite Answer Type Questions)

2. aﬁwiﬁrﬁﬁaﬁwﬁqﬁrﬁm'ﬁaﬁwﬁ? 1

Presence of choanocytes is the character of which phylum ?

3, Qﬂaﬁﬁmﬁmmm@ﬁmaﬁﬁmﬁﬁﬁwﬁﬁmmaﬁm&ﬁﬁﬂﬁ

e | 1
Name the cell organelle which is found in animal cells but not in plant cells.
4 @ SEeE @ A A | ' -9

Name two scavanging birds.

441 (IBM) [2]



10.

11.

12.

14,

SR T T B § 7
What is the function of placenta ?

fireraee & @R S | TongH B 8 ?
Which enzyme is found in saliva of Cockroach ?

I g SONg 9ed
(Very Short Answer Type Questions)

gleiftg®s oimg wm & 7

What are holandric genes ?

TRt o & 7

What is homeostasis 7

e 3R SToa d T SR W S |

Clarify two differences between inspiration and expiration.

1079070 T2 SROTH00 & q¥ A9 farRay |
Abbreviate DNA and RNA.

HY HHerel & IR g aerer foled |

Write four main characteristics of phylum Nematoda.

o'y ST UE
(Short Answer Type Questions)

WYY B AP H ARG o agd |
Draw diagrammatic sketch of liver of Rabbit.

qHE © anfefd HEed @7 guiF HifeY |

Describe the economic importance of Termite.

fere=r # gl |1 w wigra fewoh forfew —
(i) TITeSIT 918! (i) TJeherd
Write short notes on any two of the following —

(1) Golgi body (i) Adaptation

441 (IBM) [3]

(iii) HgTT ==

(iii) Compound Eye

(]

2+2=4
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farqa sofa ye=
(Long Answer Type Questions)

15. g PRM6T B HWvawm B aum 9o i | (
Describe the structure of animal cell with the help of diagram.

312741 (OR)

ﬁmﬁﬂmmﬁ%ﬁﬁaﬁmﬁ?mﬁmﬁﬁmﬁwﬁﬂﬁﬁ

g7

Describe in brief the structure of Amoeba, How excretion oceurs in it.

16. Frifciag # & 58T <t & wreo it R ey | (@1 @ smavamar wE £)3+3=¢
@) UEBRYE B HET T
() YT D YU & § B TE SR Fe
(i) FrerEe @ amER e
Draw neat and labelled diagram of any twe of the following, (Description not required)
(i)  Female reproductive system of Ascaris

(i) T.S. Earthworm through Gizzard
(i) Alimentary Canal of Cockroach

17. a6 &1 & ? WEd fiban § 0, 7o Co, #1 uRasT wiR § fhw yew Sy & 2 6

What is respiration ? How does transport of 0, and CO, occurs in blood in the process of respiration 7
34T (OR)

%WW%WWW%?WﬁWWWWHWﬁWWw%
M oy | 57 @ 5 v ot ey W

What do you understand by sex-linked characters ? Write name of any two sex-linked characters found in
man. Explain the inheritance of any one of them.

Bk

441 (IBM) [4]
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(shaer iy 99 9-11 & diendar & fag)
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T : 3 "UE | | quifer : 50
Time : 3 hours | | Max. Marks : 50

frdw: (i) 39 v -0 § 3o 17 939 8| o) wee aifard €
(i) weeT dem | 98 fGoediig § | v e 2 9 6 oo ey oody yee € | we g 7 9
11 7@ aif oy ooy e € ues & 9o o 20 vreat # ol | ve wem 12 9
14 TF oY ST U £, Ged 53 BT 9O @A 200 el # fafew | g wer 15 ¥
17 & fasgd eafig uwe 8, ed ule U $1 ST’ T 300 vk @ ofaia fafey |

(iti) &t weAt @ fog Feife ofF S8 W eifda €1

Note: (i) There are in all 17 questions in this question paper. All questions are compulsory.

(ii) Question No. I is multiple choice type. Question Nos. 2 to 6 are dufinite answer type questions.
Question Nos. 7 to 11 are very short answer type which are to be answered in about 20 words
each. Question Nos. 12 (o 14 are short answer type which are to be answered in about 200
words each. Question Nos. 15 to 17 are long answer type which are to be answered in about
300 words each.

(1i1) Marks allotted to all questions are mentioned against them.

¥g [Aocdiy yea

(Multiple Choice Type Questions)

I SHUE @ I9e Ove & IR ¥ 9R fee Gy 7w 8| 9e Aee ao 9wy qRaw # fofed —

(@) orer Rl T & Ao e E - 1
(i) Swpien (i) SR w=
(iii) STRTETS (iv) urfdear
(@) AR N § — 1
(i) F9 (i) #s &
(iif) gl B (iv) 7 &
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(1) g < @ wE o ARy B W -

(i) geor 2R (i) wof g% B
(iii) ST TPy (iv) === & gW™
(@) e W gElE 2 —
(i) ¥ 7 0 | (i) woHE g Wl 9
(i) TE T AT 9 (iv) G 9 |18 §
(@) #9 # miera gar § -
(i) 150 fa= (i) 307 f&=
(iii) 282 &= (iv) 145 fa=

Four options are given in each part of question. Write the correct answer in your answer book —

(A) Place of origin of Red Sindhi Cow is —

(i) Africa (i) Uttar Pradesh
(iii) Uttarakhand (iv} Pakistan
(B) Jamnapari is a breed of -
{i) Buffalo (ii) Sheep
(1ii) Goat (iv) Cow
(C) The Best method of milking is —
(i) Stripping (ii) Fisting
(iii) Knuckling (iv) Machine milking
(D) Ranikhet disease is related to —
(i} Sheep and Goat (ii) Poultry and Birds
(iii) Cow and Buffalo (iv) Swine and Horses

(E) Gestation period in Buffalo 1s —

(i) 150 days (ii) 307 days
(iii) 282 days (iv) 145 days
g eoNE ue

(Definite Answer Type Questions)

2. IS SN ergEuTEen (N.D.R.L) waf Reua 2 7
Where is National Dairy Research Institute (N.D.R.L.) situated ?

3. welew T R 7

What is caponization ?
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4. WPREF @ a1 el 5 A PR |

Name two methods of Dehorning,
5. HY @ 57 ugw A% & 9 fafey

Write the name of two main breeds of buffalo,
6. ¥ ¥ & o uge & wwal & W ey |

Write the name of two crops used for making ‘Hay’,

3rfer o7y I g
(Very Short Answer Type Questions)

7. afE aRA P AR T R @ am Rk

Write the name of four scientific methods of castration.
8  wy ffesear A ygew ur wEwe swfEl @ T R

Write the name of four general medicines used in veterinary,
9. A devr a=r w1 B Ry |

Write the function of vaginal speculum.
10.  ®fEW THEE & o Rifay |

Write the advantages of artificial insemination,
1. T8 vE 49 & g0 # 7 aox aer & ?

What is the difference in milk of cow and buffalo ?

oY ST ged
(Short Answer Type Questions)

12. ol =%t @F T @) Rdward v suaifer Rl

Write the characteristics features and utility of Jersy cow.
13. YO qu S @ oy - Seutet vesr =ity ?

What precautions should be taken to obtain clean milk 7
14.  GRYBT—HEUDT AT B &7 UF IUAR ol |

Write the symptoms and treatment of Foot and Mouth disease.
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(Long Answer Type Questions)
T w1 s s ge e et B gafig wifee— 343=6
(i) i (i) 2
(iii) e yay (iv) 7 geeT
(v) T I (vi) fawm
Draw the neat diagram of a cow and label the following parts—
(i) Poll (ii) Barrel
(i1i) Withers (iv) MNavel-Flap
(v) Milk vein (vi) Dew claw

T (OR)

T & @y ey e Al ® e X aed 8 7 &M @ SR A TR A
TS T WS DY B T & 7 THEY | 6

What are the factors to be kept in mind at the time of parturition of cow ? Explain the care and
management of newly born calf and that of cow after calving.

aggalt # garedt & B FA-—F W AR € ? fRAR § T B 6

What are the different methods of administration of medicines in animals 7 Describe in detail.
3eMdT (OR)

500 Fra IR R Arel U 15 SiTY gy Wi €9 9 S9N T @ o wRas) AE A oa o
& g Wi SmerR &1 U B

Compute balanced ration for a day in the month of February for a cross breed cow weighing 500
kilograms and producing 15 litres of milk daily.

wmma‘smaﬂ%@mﬁvﬁaﬁﬁmw.mmwﬁﬁwmamﬁﬁw
FET Ud WS wE & fhaa & ' ? ' 6
Write the main characteristic of a good cow. How will you select a cow by score card on the basis of
six characters and also write the marks for each character.

31eraT (OR)

seT Seares @ giewr § HfHl B P ¥ e Sow @t | gifA @ deve & @ A | ?
qffi} @ SEE—urer B TR Y Tl FHE DD BT IO B |

Which breed of poultry is considered best for the purpose of egg production ? Define the term
brooding in hens and also explain the factors affecting brooding condition of the poultry.

LEE L ]
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AGRICULTURAL CHEMISTRY (PAPER - X)
(@aa oY @ 711 & shenlRfal 3 faw)
(Only for Agriculture Part-II)

W 3 HWR ] [ quif® : s0
Time : 3 hours | | Max. Marks : 50

frder : () =9 v o F @ 17 uw ¥ oo v afyad €
(i) o7 FEr | ggfaee uRE 8| U WEdr 2 § 6 O Mivad Sanm U ¥ gw
T 7 W 11 T A oy S e ¥ | 0w 6w 12 § 14 9% oY Sy e

§ T U e 15 ° 17 9% g sk v ¥

(i) @ wed @ fog FuiRe oie w9 W sifea ¥

Note : (i)  Thereare inall 17 questions in this paper. All questions are compulsory.
(i)  Question No, | is multiple choice type. Question No. 2 to 6 are definite answer type. Question
No. 7 to 11 are very short answer type. Questions No. 12 to 14 are short answer type and
Questions No. 15 to 17 are long answer type.

(i) Marks allotted to each question are mentioned against them.

Tefaseda g

(Multiple Choice Type Questions)

L 3 0T B IE WS B SR A aR fee Ry ¥ w8 Rew el sw-gRaer
H foRay —

(@) sffedrgs (0*) 3MaF ¥ &ol sege™ B & — 1
W 12 ) (i) 10
(iii) 16 (iv) 14

(@) W S @ e g9 g - 1
@ H,0 @ H,0
(i) D,0 (iv) HO,

(M so, ¥ S & ATRITHIT FE&T & — R
0 4 (i) 2 |
(ii) 6 ) —2
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@ U™ ¥ =g e -
(i) 146
(iif) 92

(€) +rgge Mgy @ WdrwEar e & —

(i) 1
(iii) 2

(i) 156
(iv) 136

(ii) 0
(iv) 3

Four options are given in each part of the question. Write the correct option in your answer book ~

(A) Total electrons in oxide ion (0*") are -

O 12 i 10

(iii) 16 (iv) 14
(B) Chemical formula of Heavy Water is —

i H,0 (i) H,0

(i) D.0 ) HO,
(C) Oxidation number of § in SO, is—

@ 4 (i 2

(i) 6 i) -2
(D) Number of neutron in ,U** are -

(i) 146 (i) 156

(i) 92 (iv) 136
(E) The valency of Nitrate ion is —

@ 1 @ o

(iii) 2 (v) 3

fea sofg ue=
(Definite Answer Type Questions)

il BeHiRS s w1 g foaRed | 1
Write the formula of Orthophosphoric acid.
TeepI3Al BT AT ¥ IarEd | 1
Write general formula of Alkynes,

e gepred F1 smgogodovodo vEfy ¥ A R | 1

Write 1.U.P.A.C. name of Ethyl alcohal.

giear % fas wfoer Aggom B & ?

What is the percentage of Nitrogen in Urea ?

qedid! ¥R &1 GRAN] AR TuT HANwHar & w41 T § ? 1
What is the relation of Equivalent weight to the Atomic weight and Valeney ?
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(Very Short Answer Type Questions)

7. WTIRG T WS # ey W e | 2
Differentiate between isobars and isotopes.

R U% TIQTETUT Q&Y WIGHIBRYT B I | 2
Explain saponification with an example.
9. WGW T SHHYC EISTIPIET DI I WRd FHI | 3

Explain saturated and unsaturated Hydrocarbons with example.

10, &RIG A 999 & & SRV fafay | 2

Give two causes of formation of alkaline soil.

1. Wwaw@mﬁaﬁmﬁwﬁaﬁﬁﬁwﬁeﬁ%ﬁmmvmﬁm%{f@m 2
Write method of preparation of any one of the Nitrogeneous Fertilizer and its utility for the plants.

oY ST 9T
(Short Answer Type Questions)
12. (@) mfar e @ 8a% Ay &1 9o SRR 2
Describe the manufacture of Ammonia by Habber's Process,
(@) S @ vrdl qor SRl FORar ® PR T Joord BT | 2

Mention the causes of permanent and temporary hardness of water,

13. TG 91 & ? T @1 A - erel W AR e 7 we B 4

What is ionisation ? What are the factors that affect degree of ionisation ? Clarify.

14, (F) TfeE et e Wil anct B g RiRed | v AR SR AR Rt ARR 2

Write chemical formula of Acetic Acid and Formic Acid. Give one chemical equation to differentiate
them.

(@) SrERwr <0 gd ASel® P oanadt ROl @ = S &1 Soor ARE | 2
Point out any two defects of Mendeleef's periodic table with example.
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(Long Answer Type Questions)

15. (@) mﬁmmﬁ%mmmw|mzﬁ%
T[0T, B IMETARS 0T T &Y ST foARa |

Give chemical equation for the preparation of Glucose in the laboratory. Give two physical properties
two chemical properties and two uses of Glucose.

(@) m@mwﬁm@%@aummmm%mmﬁ

T FHA Y
Write chemical formula of Phenol. Write chemical equation to describe preparation of Benzene fmn
Phenol.
16. F=fofaa & 51 fosl 9 W foooft foRed- 2%x3=
() Rer srqura @1 a4 (@) ol Ty
(@) ders fhwol (®) 9T HATSTRT
Write short notes on any three of following -
(a) Law of Definite Proportion (b)  Diagonal Relationship
(c) Cathode Rays (d) Electro Valency
17. @41 e & 99 (rarafie g ot SoE) — 1Vaxd=

(@) i Tovige B \IfTH Teeieass feas @ W T oy ¥
@ fresd 3 T oy )

(m e vie @ Arsew o 9 R B & |

(@) Bfegas wEgs oo o har o g

What happens when (give chemical equations also)—

(a) Ammoniam Chloride is heated with Sodium Hydroxide solution.
(b) Potas Alumis heated.

(c) Ethyl Amine reacts with Nitrous Acid.

(d) Calcium Carbide reacts with Water.

e o o e
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